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P . - This questlon paper consists of Part-A and Part-B. Each Part carries 1 50 marks

Rt mm-w%uﬁmmﬁwrﬁam%lmﬁmaﬁaﬁélmmzw3ﬁamﬁm
: ﬁm%lmmz%mmtﬁm1oo%wmm3%%«mw-ﬁmsoo%l

Each part of this questlon paper cons1sts of three questions. All questlons are
~ compulsory. .:Questlon Nos. 2 and 3 have an internal choice. For Question No. 2
: \n{o_rgi,limit_, is. 100 and - for -Question .No. 3 word limit .is 300.
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Answers should be written in the medium which you have opted in your
Application Form. No marks will be awarded, if the answer is written in any other
medium. All the three questions must be answered. Question should be
answered exactly in order in which they appear in the question paper. Answers to
the various parts of the same question should be ‘written together compulsorily
and answers of other question should not be inserted between them.

3. WM W @Y-IwA R, Rl dwg tEd v €1 5l R 1 s 2 dfet § 3 R

The first question is of short -answer-type consisting of fifteen compulsory
questions. Each one is to be answered in 1 or 2 lines.

4. &t veo-whm € T R, S oA e |

Wherever word limit has been given, it must be adhered to. -~

5. aﬁﬁwﬁmﬁﬁwﬁmaﬁaﬁéwmamwﬁgﬁé ﬁm%%ﬁrwaﬁsﬁ
woiad # ¥ el TR A AHE W ST

In case there is any error of printing or factual nature,.,then out of the Hindi and
English versions of the .question, the English version will be treated as standard.
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- gue-A / Part—A -

ﬁn%ﬁaﬁ%uﬁmm1m2qﬁsﬁﬁﬁ1ﬁ§q/m?ﬁﬁq L zasess

‘Write on/Answer the following in-1 or 2 lines each :

(a)'ﬂﬁmﬂﬂm

Nuclear reactor

- (b) mc%m@mwaaﬁmm

Sources of v1tam1n C and disease caused due to 1ts deﬁc1ency
(c) Wt o vaF IR
'Acetyle.ne and its uses
(d) = T

Acid rain

(e) IR

Pasteurization
(N TN A
' Hard water

(@ o T o
. CFC

R

Sea horse -
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(i) Freafafea & T’f ®q ﬁTﬁgt{ :
Write the full .form's of the following :
(i) UNESCO
(i) SCOPE
(iii) UNDP

) Qﬂ(ﬂgﬁﬁ)%m—sﬁa-@mmw%ﬁmmml

Write the scientific names of causative agent and vector of plague.

(k) T 3w Bemh F i T Rk

Write the scientific names of any two biopesticides.

() T F TR R 9 AW A s i F wwe W e

Enlist the natural colours present in sunlight in a sequence.

(m) TF TEH TSH F FW K 3@H O A AU §| IGH TEER I A A0l ¥ qw
Wsﬁmm%lw%mﬁﬁawﬁﬂﬁmmmaaﬁgéé’ﬁ?ww
ﬁaﬁamﬁa@uﬁtwm%@m

A boy runs fast after seeing a street dog. His breathing becomes fast and
blood pressure also increases. Which hormone will be found to be high in
his blood? Name the gland secreting this hormone. -

(n) wﬁﬁwmw:ﬁﬁé?mawml

What is bleaching powder? Describe its two uses.

(o) Tl @ sim-1 (dfierea) fat & am fafau)

Enlist any three greenhouse gases.
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5 Freafafian & 5 T e 100 TR # Refy/aw AR (€ T) ¢ 6 10=60

Write on/Answer the following in about 100 words each (any ten) :

(a) R i UE T TEE S

Plaster of Paris and its uses

(b) GETO T FER TFAW

Corrosion and its prevention

(c) IFFRFR B T THH T

Nuclear fallout and its effects

(@) o S TS I S

Polar satellites and their usefulness

. ) {.

(e) wﬁmqﬁ@mﬁamﬁgw&ﬁﬁaﬁﬁwﬁmaﬂhaﬁmw‘m
e oft ffaw) | S | |
Considering pond an ecosystem,'describe its various tro.phic levels and

give suitable example.

() when § wr @ A % Rrg 36% 3 W N SAEEEH oAT| T O T
83 i W Y, weg W 7 sl ¥ oot S fen T when % R R
sAfrean QUi 1 oA T ' :

In an examination, the students were requiréd to obtain 36% pass

marks. A student obtained 83 marks, but he was .declared fail by
7 marks. Calculate the maximum marks allotted for the: examination.

M-2018-111/GS-3 5 - [PTO.




(9)

(b

(i)

0)

mmwmmﬁ%mmlmam@m
mﬁﬂmavhiﬁﬁm ‘

Differentiate diabetes mellitus from diabetes insipidus. Describe thelr B
symptoms and concerned hormones

ﬁﬁﬁﬁmm,@ﬁwml

Write a note on haemophilia.

fafts R & e 27 Ry R B A v wEE

What is forensic science? Explain the role of insects in forensic science.

(

g{tgarf%mm@ﬁmﬁ%f@m

~ Write a note on remote sensing,

(k)

y

mwgww%:aﬂtusmﬁ EvEw R

What is cyber defence and why is it essential?

A% frer A A 27 96 92 #1 5 o va W B oy ok 3w R B o =
I 2 : 3 ¥ e AR A Tl g B oA A

Father of Ramesh is 27-year older than Ramesh. After 5 years, the ratio

- of the age of Ramesh and his father will be 2 : 3. Calculate their

present age.

(m) g+ B9 ¥7 Seor WfRa WL

(n)

What are alloys? Explain with example.

e, mﬁim@azt'ﬁ w et ff

Write notes on mean, median and mode.

(o) i 1 < ok

Br.iéﬂy describé Darwinism.
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Answer any three of the following'questions in _about_'3”00 Weirdsn each :

‘{a) Wﬁﬁﬁnmﬁﬁ%m%ﬁlmﬁﬁmwmmﬁ%&m
Tuie Hifem)

" Enumerate various species of honeybees. Describe the scientific method

for obtaining honey.

(b). Wu@wﬁq&wﬁaiﬁﬁmmm%ﬁﬁaaﬁ@mmq@aﬁm
’memlﬁﬁm%mmsﬁml

Define environmental pollution. DlSCllSS -the" various sources of air
pollution and its adverse effect on living beings. Also give suggestlons for

their remedy.

) Rt & 7 e &7 o S R R e  E el R
--Amﬂﬁmwwm%mmmwwml

. What is meant by b10d1vers1ty? When do we observe Intematmnal
- Biodiversity Day? Describe the technologies used for: propagation and

., genome conservation in a given ecosystem.

(d) Wm@ﬁmw%?wmﬁmﬁﬁammmﬁﬁﬁm

What is Information Technology? Discuss various -méans used in

Information Technology.

(e) W%ﬁﬁaﬁm@ﬁ%mmlmﬁ%ﬁmmmwml

- Enumerate the vanous non—convent10na1 sources of énergy. Descrlbe
any three of them in deta11
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() Tl g w27

(i) W@mmmﬂﬁﬁwwwwml
(i) = fg w3 R R geesie 1w i

Answer the following questions given below :

g WD =

sfa
o
S HIC

g

HHIAE

(i) What is diversity index?

(i) Describe Simpson’s index and Simpson’s index -of diversity.

(iii) Calculate Simpson’s index for the following data :

M-2018-I11/GS-3

a A WM

Species
Mango
Ashok

Cashew

‘Coconut-

Amaltas

(n)

W = = 00 N

n)
2



Qe / Part—B

1. frfefed § @ v w1 1w 2 dfet # sw i

Answer the following in I or 2 lines each :

(a)

(b)

()

(@)

(e)

(9)

T 1 el ¥7

What is the meaning of demonetization?

az@qa‘émm(GST)@rmwm%?

What do you understand by Goods and Services Tax (GST)?

@ sl B sERon = 37

~ What is the concept of net inflow?

eha oraiE A I A 27

What is meant by Green Accounting?

ﬁq-@%ﬁw%wﬁ?

Which countries are the member of BRICS?

smmraﬁgarﬁam%waﬁw%?

What are the bbjéctives of Pradhan Mantri Mudra Yojna? .

TTE GRET hl SEEROT T 27

. What is the concept: of food security?

M-2018-111/GS-3 | 9
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(h) ﬁwmﬁmwwﬁi‘?

What do you pnderstand by decentralized planning?

() TR R gmamw 27

()

(k)

o

(m)

(n)

(o)

What is the quality of employment?

< iR 2 W T e R

What is the main purpose of Direct Benefit Transfer (DBT) Scheme?

émmw%mmm@m(m)mmm

What are the chief components on which Human Development Index is

based on?

&l Teger % o HROT SR

Give three reasons of regional imbalance.

R T T R guE % R 67

What are the reasons for low sex ratio in our country?

mmﬁ'ﬁmm%ﬁiﬁwml

Write any two reasons for low industrialization in Madhya Pradesh.

Srreadi a9 F RSt e % o @ e ke

Write any two causes of inflationary rise in prices in recent years.

M-2018-111/GS-3 10




ﬁwﬁ%auﬁﬁﬁmmmmmomﬁaﬁq 6x10=60 .

Answer the followmg questrons in about 100 words each

(@) mmammm,wmmé?ﬁm
Hifsr)

Analyze why Indian economy 1s cons1dered as planned . developmg
economy. ' o

HYIT / Or

maﬂﬁaﬁvfmﬁﬁa?ﬁﬁm

D1st1ngu1sh between Green Revolution and Golden Revolutlon

4@)_-mmﬁﬁmﬁ%wmmmﬁ?ﬂwaﬁﬁw%ﬁmwm'
g -

What measures has been undertaken by the government for the reform
in its financial sector on recommeridations of the Narasimham
Committee?

m/'Or
m%mmﬁ'ﬁ‘mﬁﬁiﬁaﬁmﬁ?

| What  are some emerglng trends in Ind1an agnculture as a result of
hberahzatlon? ’

(c) TR AW TEH AN F T Ry B J
What are the obje_ctives of Pradhan Mantri Gram Sadak Yojna (PMGSY)?
TYaT / Or

W%WWWW(JNNURM)W@EMMWl

- Write 'a short note on Jawaharlal Nehru Natronal Urban Renewal
Mission (JNNURM) B

M-2018-1n/os53 » | . n % [Pro.



(@) TR derR e e Sk T St - s R

- Write the role of Regional Rural Banks 1n providing institutional credit to
agriculture. : '

”'A"érezar/ or

ﬁ:an%%zm@ﬁqﬁugamml

Write the sahent feature of Klsan Credit Card Scheme.

(e) mﬁmmﬂmmmmﬁwl

Suggest the measures to rev1tahze Cooperatlve Movement in India. ' <

arerar/ Or'

oo .

mmﬁﬁﬁmm@mmﬁml -

" Write a'short note on thé importande of agriculture in"Madhya‘ lsfa'fdésh.

1] mﬁmmawﬁmﬁwﬁgmﬁaﬁmwwaﬁﬁﬁm

"Discuss the ccpnomic refqrms in Indla m the hght of soc1a1 Justlce
and welfare. T '

;m,‘o;
70 (PURA), ﬁmmﬁﬁmﬁ@mmmgﬁm ammtaﬁ%ﬁasmsﬂa%m~ ,.
%mﬁsﬁwaﬁﬁw : ‘

" Analyze PURA a new Gahdhieix_l-'ﬁappf(')'éch to dévélopmerit for developing
country like India. ' ' E

'(g)i’s’mw(mnﬁ)%mﬁﬁwﬁm

Explain the functions of Stock Market.

M-2018-my/es3 12 o N URYES:




31813”/ or

'éﬁ(smr)mwﬁwﬁmaﬁmwﬁ%mﬁmmﬁﬁamm

P SR

Analyze vanous steps taken by SEBI to strengthen.. the :.,capital market
in Ind1a : '

[N
L)

.. Eﬁ Hnsnsql

Explain: the measures ‘taken by government to eliminate’ mequalities' in
income d13tr1but1on in India. S

GIW/Or.

L B e W 4 eﬁrﬁh we A s ﬁﬁruazané 3

There is downward trend In’ economic mequahty worldvmde W1th a rise

""" in tHe ‘Average educatlon level.” Comment

0

N ﬁnanmal sector 1n Indla?

Wﬁ%ﬁﬁﬁnm%mmmﬁmwmﬁml

Mention the technologlcal factors respons1b1e for low product1v1ty in

' .agrlculture in India.”

awar/ Or

’:‘_wﬂaﬁ@gmﬁé;wa%m’é?

_ What are the objectives of land reforms in IndJa?

i

":'l"miaﬁﬁ?nqaaﬁmxamm@mam%mﬁaﬁmﬁw

Why did RBI have to change its role from controller to facilitator of

Mention the chief features of National Rural Liveliho‘od-Missilon'."(NRLM). ‘

M-2018-111/GS-3 S S Yot




3. ﬁw\%ﬁ@amﬁﬁ%mmwwsoomi&aﬁm 15x3=45

Answer the followmg questlons in about 300 words each :

(a) nﬁamﬁmﬁ‘m(NSDc)%agmsqmmﬁmaﬂwﬁmﬁﬁﬁm
mmmﬁ@ﬁmmm%lwmﬁgaﬁﬁgw
mmmmmmmaﬁaﬁm@mml '

According to the National Skill Development Corporatlon (NSDC) there is
severe quality gap and lack of availability of- trainers in vocat.xonal
education and training centre. Comment and explain the measures
taken by the Natlonal Skill Development Council to overcome this '
problem. -

Hygar / Or

T | - '

Critically evaluate various problems and challenges faced by our Indlan
economy.

(b) mm%mmamwmmn

' Cr1t1ca11y evaluate the Cooperat1ve Movement in Madhya Pradesh.
Hgqr / Or

@ﬁ@ﬁmmmma@mg{mmmﬁﬁwmtl
feomft AR : .

“Information Technology plays a s1gmﬁcant role in ach1evmg sustainable
development and food security.” Comment. '

() mﬁaﬁmﬂﬁm@tqaﬁﬁgmﬁqmﬁ%wmmmm
Foi7 Al |

State the rn'easures taken during Five-Year Plans to solve unemployment
problem in India. ' '

- M-2018-111/GS-3 : 14



4T / OF

T AT 6w 5 3% R % wre
T A faweren Hifm)

- Analyze the prospects of Twelfth Plan in the 1i

and growth targets for the plan.

* sk ok

M-2018-111/GS-3 15
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ght of its drivers of growth
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